Benzoic acid

Response Ratio

O 4 I I I I I I I I

0 0.5 1 1.5 2 2.5 3 3.5 4
Concentration Ratio

Response = 1.427e-001 * Amt - 8.052e-002
Coef of Det (r”"2) = 0.991116 Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA G\Methods\8270-BG061322.M
Calibration Table Last Updated: Mon Jun 13 15:49:31 2022



2,4-Dinitrophenol

Response Ratio

O 4 I I I I I I I I

0 0.5 1 1.5 2 2.5 3 3.5 4
Concentration Ratio

Response = 1.862e-001 * Amt - 6.565e-002
Coef of Det (r”"2) = 0.993162 Curve Fit: Linear
Method Name: Z:\svoasrv\HPCHEM1\BNA G\Methods\8270-BG061322.M
Calibration Table Last Updated: Mon Jun 13 15:49:31 2022



